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C % C # 5t = # % it 3 #

HIRER 1,440 1612 3,052 326 343 669 132 168 300 0 458 511 969
HIOREX 1,123 1285 2408 260 260 520 143 206 349 0 403 466 869
HIRER 1,740 1,948 3,688 410 420 830 135 160 295 0 545 580 1,125
HIREX 931 1,026 1,957 250 250 500 95 146 241 0 345 396 741
HEREX 55 45 100 26 18 44 10 17 27 0 36 35 71
HOREX 568 652| 1,220 197 193 390 103 152 255 0 300 345 645
HTREX 1,458 1538 2996 317 324 641 182 260 442 0 499 584 1,083
HEOREX 1,300  1482| 2,782 282 313 595 92 122 214 0 374 435 809
HOREX 1,212 1410 2622 336 336 672 181 239 420 0 517 575 1,092
H101ER 1,901 2,000/ 3,901 475 490 965 261 322 583 0 736 812| 1,548

5t 11,728| 12,998 24,726 2879 2947| 5826 1334 1,792| 3,126 0 0 of 4213 4739 8952

g BIEEMN B = X
(e —f) f e’ *100 B = B
2 % 3 # 5t

FIRER 982| 1,101 2,083 3181 | 31.70| 31.75| F1BER KHIZa=FrErs—
EIRER 720 819 1,539 3589 | 36.26| 36.09| HBER #H<IE—BERA—IL
HIREX 1,195  1,368| 2563| 3132 29.77| 3050 | FBRER L ASERELE
EIRER 586 630 1,216/ 37.06| 3860 37.86| F4BRER FELARE
HEREX 19 10 29| 6545| 77.78| 71.00 | #pER H-HokrE
HOREX 268 307 575| 52.82 | 5291 | 5287 | FHER SitFRAELE
HTREX 959 954|  1913] 3422 | 3797 36.15 | FIRER hERENEHREEE
HEREX 926| 1,047 1973| 28.77| 29.35| 2908 | FHER BWAFII1=TEE—
HIREX 695 835 1530] 4266 | 4078 | 4165 | #BRER BEENL—=LELE—
EI0RER 1,165  1,188|  2.353| 3872 | 4060 | 39.68 |FI0BER HNE/INFRAELE

5t 7515 8259 15774 3592| 3646 36.20

ATER EER H21.4.19




